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2. Shown here are equations given (o See 3
Asha and Tessy with mctiilruanswcg e
Seema @ 4x1+8-2=8
Ances  B+4+2-1=4
Asha : 94+3x2-4.2=10
Tessy : 27- 3-2x3=2]
Who has got the correct answer?
(A) Seema
(B) Ances
(C) Asha
(D) Tessy
I A=3/4.5/6
B=3+[(4+5)-6]
C=[3+(4+5)]+6and
D=3-4(5+6)
Then
(A) A and B are equal
(B) A and C are equal
(C) A and D are equal
(D) All are equal

4. Malala Yousufzai is a name which recently came
into news. She isa

(A) Pakistani Women Rights Activist shot by
Pakistani Taliban

(B) External Affairs Minister of Bangladesh

(C) New Women Judge appointed to Madras
High Court

(D) Eminent Urdu writer who received this year's
Sahithya Academy Awand

5. Who has been appoinied as the Chief Economic
Advisor (CEA) in the Ministry of Finance?
(A) Kaushik Basu
(B) Raghuram G. Rajan
() Vijoy L. Kelkar
(D) Indra Rangarajan

6. Which one of the following pair is comectly
maitched?
(A) Dipika Kuman — Badminton
(B) Krishna Poonia — Archery
(C) Vijender Singh — Athletics
(D) Gaganjeet Bhullar — Golf
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7. Consider the following statements:

l. Sachin Tendulkar is the first Indian Sporns
person to be conferred with the membership
of the ‘Order of Australia'.

2. Former Attorney General Soli Sorabjee was
the first Indian to be made an Honorary
Member of the '‘Order of Australia’.

Of these

(A) 11scorrect but 2 is wrong
(B) 1is wrong but 2 is correct
(C) Both are correct

(D) Both are wrong

8. The Instrument converting mechanical energy into
electrical energy is called
(A) Dynamo
(B) Transformer
(C) Electrometer
(D) Moto

9. A liquid drop is spherical in shape due to
(A) Atmospheric pressure
(B) Surface tension
(C) Viscosity
(D) Weight

10. When a gas is compressed suddenly then its
temperature
(A) Rises
(B) Decreases
{(C) Remains unchanged
(D) None of the above

11. Computer Programme consists of
(A) Instructions and Data
(B) Low level language
(C) Instruction data and Low level language
(D) Data

12. Where is the Central Rice Research Institute
located?
(A) Bhubaneswar
(B) Kolkata
(C) Bangalore
(D) Curtack

13. Which of the following fraction is the largest?
(A) 15/19 :
(B) 29/33
(© 1317
(D) 377

GET IT ON
Google Play

27, Sypa Aol Gt Afew e
T o cogren s GRS R T
T TR TR (76T T |
7. mmﬁmﬂﬁmawm
e FPUIF SEETm T SRR’ T = )

(A) | fom, 28
(B) 1gm, 2%
(C) wftm =
(D) 7R

8. 00 CE Ay s i tag e +feTe memafre
T T GO
(A) ST
(B) L
©
(D) bt

9, w7 ~mda GBI ComTgfE QeI IR
(A) ARETOTTA BIH
(B)
(C) e
(D) ewA

10, 7% <z e e ARl I W oW °R
abie )
(A) T otm
(B) = *m
(C) wfiraf¥s onm
(D) Bwum el =m

11. FfeEnm oo & & e
(A) ot ¢ oy
(B) frwamm wr
(C) ot wafirs o 3 Frergrs s
(D) ©Yy

12, (ol 4 e =fbw T W
(A) EIomn
(B) e
(C) Temm
(D) ¥bm

13, mmﬂamm ?
(A) 15/19 A
(B) 29/33
(C) 13/17
(D) 317


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A

Adda247

14. Indian Standard Tine 15 ahead of Greenwich
Mean Time by

(A 2and 1/2 hours
(B} 1and 172 hours
(C) 7 and 172 hours
(Dy 5 and 172 hours

18, Which one of the following 15 highest living wee?
(A) Bucalyplus
(B} Palm tree
() Sequen
(D) Tree Fern

16. Which one of the following is not caused by
Bacteria?
(A) Typhotd
(B) Inflluenza
(C) Diptheria
(D) Cholera

17. Blood is formed in the human adult in the
(A) hean
(B) spleen
(C) red bone marrow
(D) yellow bone marrow

18. In which organ does the formation of urea always
take place?
(A) Kidney
(B) Liver
(C) Spleen
(D) Thymus

19. Find out the odd word
(A) Cabin
(B) Compartment
(C) Cargo
(D) Berh

20. Select the plural form of “Leaf”
(A) Leafs
(B) Leaves
(C) Leafings
(D) Leafing
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21. Select the plural form of “Staff™”
(A) Staffs
(B) Staf
(C) Staff
(D) Staves

“22. Find out the odd word
(A) Relation
(B) Related
(C) Relate
(D) Relatively

23. Find out the error

Breadandbutter are ourusual breakfast
1 2 3 4

(A) 1

(B) 2

() 3

(D) 4

24, Fill 1n the blank with the correct word:

The burglar managed to get away with a huge .

(A) haul
(B) hall
(C) hail
(D) all

25. Fill in the blank with the correct word:
Our soldiers _____ the enemies attempt,
(A) foiled
(B) poiled
(C) boiled
(D) filed

26. Fill in the blank with the correct word:
My father always wears shirts.
(A) loose
(B) lose
(C) loos
(D) luz

27. Select the comect voice:
Chennai Fort in 16th Century.
(A) is built
(B) was built
(C) has built
(D) had built

C-6
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28. Choose the correct ‘synonym® for the underlined
word from the option given: '
The party ended in a great figsco.
(A) disorder
(B) gaiety
(C) entertainment
(D) rejoicing

29. The weight of a body is

(A) the same everywhere on the surface of the
earth

(B) maximum at the poles
(C) maximum at the equator
(D) more on the hills than in the plains

30. Radioactivity was discovered by
(A) Peierre Curie
(B) Madam Curie
(C) Ruther Ford
(D) Henri Becquerel

31. Hydrogen Bomb is based on the principle of
(A) Nuclear explosion
(B) Nuclear fusion
(C) Nuclear fission
(D) Slow rcaction

32. Unit of the intensity of sound is
(A) Farad
(B) Decibel
(C) Ohm
(D) Pascal

33. Why do rain-bearing cloud lock black?
(A) all light is scattered by rain
(B) they reflect the sunlight back into the
atmosphere
(C) the large number of water droplets in them

absorb all the sunlight
(D) there is a lot of dust condensed on the water

vapour in these clouds

34, In mountain because the atmospheric pressure is
low, the boiling point of water
(A) decreascs
(B) increases
(C) may increase or decrease
(D) remains the same
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38, Look af this series: 8,43, 11,41, ___, 39,17, ...
What number should fill in the blank?
A 8
(B) 14
) 8
(D) 44

36, What comes next in this series”?
FAG. GAF, HAL IAH,
(A) JAK
(B) GAK
(C) JAI
(D) HAK

37. Bais can fly in the dark without hitting anything
because
| (A) they are flying mammals
| (B) their night vision is good
! (C) they are guided by ultrasonic waves produced
' by them
’ (D) of no scientific reason

38. One horse power is equal to

(A) 746 watts
(B) 744 watts
(C) 745 watts
(D) 747 watts
39, Which one of the following pairs is not correctly
matched?
(A) Kakrapara —  Gujarat
(B) Hirakud —  Orissa -
(C) Mettur —  Tamilnadu
| (D) Tungabhadhra — Maharastra

40. What is the important function of Parliament?
(A) Governing
(B) Law-making
(C) Collecting taxes
(D) Criticising Government

41, Which State Legislative Assembly has the
maximum strength?

(A) Andhra Pradesh
(BY West Bengal
(C) Uttar Pradesh
(D) Maharastra

C-8
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42, The Pundamental Rights of the Indian Constitution
are enshimed i

e a1

v Pan 1V

W Preamble

I None of the above

4% The Constitution of India came into toree on
VA Januy 29 1048
(B January 26, 1950
(Y Januany 2o, 1952
UM January 26, 1954

4 IR0+ 4 10°+ T x 1074 5is egual to 7
(AY 4705
(BY 3475 x 1O
(Y M08
(I 347500

45, Sum of two numbers is 32 11 one of them is -30,
then the other number (s
LAY 4
(B 4
(Y - 68
(D o8

46, 20
(A 2
(B 3
(K 4
(M 1

47. A cor goes one kilometer at 30 km per hour and
then goes another one kilometer at 40 km per hour. The
average speed (in km/hour) of the car for two km is

(A) 35

(B) 4%
() 1V
(D) 33

48, 4-(2-9"+ ¥ e L+ disequalto
(A 17
(B) 16
() 1§
(o 12
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% 49. A Car batiery contains an electrolyte of
(A) Potassium Hydroxide
(B) Nitric Acid
(C) Sulphuric Acid
(D) Lactic Acid

50. Who was the first Indian Govemor-General of
Free India?
(A) Sardar Vallabhbhai Patel
(B) C. Rajagopalachari
(C) Lord Louis Mountbatten
(D) Jawaharlal Nehru

51, Maximum amount of Coffee producing State of
India is
(A) Tamilnadu
(B) Andhra Pradesh
(C) Kerala
(D) Kamataka

52. The agent which is oxidized in Photosynthesis is
(A) Carbon dioxide
(B) Chlorophyll
(C) Sun light
(D) Water

53. Booker prize is awarded in the field of
(A) Literature
(B) Medicine
(C) Science
(D) Social Service

54, Who was the first batsman to reach 10000 runs in
Test Cricket?
(A) Sachin Tendulkar
(B) Allan Border
(C) Sunil Gavaskar
(D) Rahul Dravid

55, Which mineral or crop is called Black Diamond?
{A) Iron
(B) Coal
(C) Coffee
(D) Tea w

.,

§6. Ramkrishna Paramhansa was associated with
(A) Kalighat
(B) Tarapith
(C) Bakreswar
(D) Dakshineswar
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(A) Saturn
(B) Jupiter
(C) Earth
(D) Mars

58. Brahmo Samaj was founded by
(A) Raja Rammohan Roy
(B) Iswarchandra Vidyasagar
(C) Swami Vivekananda
(D) Rabindra Nath Tagore

i 59, Dry ice is
(A) Carbon monoxide
\ (B) Carbon with solid ice

(C) Solid carbon dioxide
| (D) Sulphur Trioxide

60. Fountain Pen was invented by
(A) C.V.Raman
(B) Louise E. Waterman
(C) Vannevar Bush
(D) Alexzender Graham Bell

57. The biggest planet of the Solar system is

C-11
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